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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING - SEMESTER–V • EXAMINATION – WINTER 2013 

Subject Code: 350601 Date: 27-11-2013        
Subject Name: Design of Concrete Structure 
Time: 10:30 am - 01:30 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version is considered to be Authentic 
5. Use of I.S. 456-2000, Design aid (SP-16) and I.S. 875-1987-Part-1 and  
       Part-2 are permitted. 
 

Q.1 
 

(a) 1.   Define limit state. Also mention types of limit state. 
2. Give difference between singly R.C. beam and doubly R.C. beam. 
3. Explain the minimum eccentricity of R.C.C. column. Also write    the 

minimum   and maximum % of longitudinal steel and minimum 
numbers of bars in rectangular and circular column as per IS 456. 

   02 
   03 
   03 

 (b) 1. Define clear cover and effective cover. State minimum cover to 
reinforcement for slab, beam and column. 

2. What should be maximum spacing of main and distribution bars in 
slab? 

3. With sketches explain balanced section and under reinforced section. 

   02 
 

  02 
 

   03
Q.2 (a) Design a short square RCC column that can carry axial compressive load 

of 1500KN, also design longitudinal steel and lateral tie. Use concrete 
grade M 20 and Fe 415 steel grade. Use minimum % of steel. Draw sketch 
with all reinforcement details. 

   07

 (b) Design a simply supported slab for 3.2 m x 9.2 m size. It is resting on 300 
mm wall and resisting live load of 2.5 KN/m2 and floor finishing load 1 
KN/m2. Use M 20 concrete and Fe 415 steel grade steel. Check depth as 
per deflection criteria and cracking. Draw sketch with all reinforcement 
details. 

07

  OR
 (b) Design a one way continuous slab having three equal span of 3.5 m is 

supported on 300 mm wide walls .Take live load of 5 KN/m2and floor 
finishing load 1 KN/m2. Use M 20 concrete and Fe 415 steel grade. (no 
checks are required) 

07

Q.3 (a) Design a two way simply supported slab, supported on 300 mm wide walls 
on all four sides. Clear dimension of slab is 3.0 m x 3.0 m. Assume live 
load as 3 K/m2 and floor finish as 1.0 KN/m2. Corners are not held down. 
Use M20 concrete and Fe 415 steel grade. Check for cracking only. Draw 
sketch with all reinforcement details.  

07

 (b) Find tension and compression reinforcement steel area required in a R.C. 
beam 300mm x 600 mm to resist factored moment of 325 KN.m Take 
effective cover as 50 mm on both faces. Use M20 concrete and Fe 415 
steel grade. 

07

  OR
Q.3 (a) Design a two way simply supported slab, supported on 250 mm wide walls 

on all four sides. Clear dimension of slab is 3.5 m x 4.0 m. Assume live 
load as 4 Kn/m2 and floor finish as 0.8 Kn/m2. All corners are held down. 
Use M 20 concrete and Fe 415 steel grade. (no checks are required)  

07

 (b) A singly reinforced rectangular beam (300x600) mm with 3 bars 22 mm 
dia at an effective cover of 30 mm. Its effective span is 5 m. Use concrete 
grade M 20 and Fe 415 steel grade. Find allowable live load on beam.  

07

Q.4 (a) Design a square pad footing for an Isolated column 500 mm x500 mm 07



2 
 

carrying a factored axial load of 1400KN, bearing capacity of soil is 
180KN/m2,Use M 20 concrete  and Fe 415 steel grade, Check for cracking 
only. Draw sketch with all reinforcement details. 

 (b) Determine moment of resistance for T beam with following dimensions. 
1. Width of flange: 1500 mm. 
2. Depth of flange: 150 mm. 
3. Breadth of web: 230 mm. 
4. Effective cover:  50 mm. 
5.  Over all depth of beam : 600 mm 
6. Tension steel: 4nos. – 16 mm dia bars. 
7. Use M20 concrete and Fe415 steel grade. 

07

  OR 
Q. 4 (a) Design a square isolated slopped footing for a column 500 mm x500 mm 

carrying a service axial load of 2000KN, safe bearing capacity of soil is 
250KN/m2, Use M 20 concrete and Fe-415 Steel grade. Draw sketch with 
all reinforcement details. (No checks are required) 

07 

 (b) A R.C. beam 250 mm x 500 mm effective size is reinforced with 4 nos. -
20 mm dia of Fe-415 and subjected to factored shear force of 200 KN. 
Find spacing of 8 mm dia -2 legged Fe-250 stirrups. Use M 20 concrete 
grade .Draw sketch with all reinforcement details. 

07

Q.5 (a) Explain the methods for improving the ductility of RCC structure. 07
 (b) Using the data given below, draw plan and sectional elevation of a dog 

legged stair case.  
1- Stair cabin: 5000 mm x 3000 mm. 2- Cabin walls: 350 mm thick. 
3- Landing: 1200 mm x 3000 mm on both sides.4- Risers: 12 nos. of 150 
mm each. 5- Treads: 11 nos. of 250 mm each.  
6- Main reinforcement: 12 mm diameter @ 120 mm c/c.  
7- Distribution steel: 8 mm diameter @ 200 mm c/c.  
8- Thickness of waist slab: 170 mm 9- Thickness of landing slab: 130 mm.

07

  OR 
Q.5 (a) Explain detailing of a column as per I. S. 13920. 07

 (b) Draw the sketch for plan and cross section for balanced cantilever bus stop 
using following data: 

1. Column: 4 nos. 300 x 700 mm in cross section, Longitudinal 
reinforcement   8 nos- 20 mm dia. Lateral  ties -8 mm dia- 150 mmc/c  

2. Beam: 4 nos. 300 x 700 mm, in cross section, tension reinforcement :  4  
nos- 25 mm dia   Compression reinforcement : 2 nos- 16 mm dia.  
Stirrups : 8 mm dia 125 mmc/c , 2 –legged 

3. Slab: thickness 120mm , main steel -8 mm dia 120 mmc/c  Distribution 
steel -6 mm dia 175 mmc/c 

4. Spacing of column: 3.5 m c/c 

07

 

************ 

 

̆ĕ ૧ અ ૧ �લિમટ ƨટ°ટની ƥયાƉયા આપો.ȩુદા ȩુદા ̆કારની �લિમટ ƨટ°ટ Əણાવો. 

૨ િસગલી  ર°ઇƛફોસ½ડ અને ડબલી ર°ઇƛફોસ½ડ બીમનો તફાવત આપો. 

૩  કોલમમા લȴતુમ ઉƗક°ƛ̃ીયતા સમĤવો.લોƛĥȬુ�ડનલ ƨટ�લ માટ° લȴતુમ અને  

મહતમ % અન ેલબચઁોરસ અન ેવȱુ½ળ  આકાર કોલમમા લȴતુમ સળ�યા ની સƉયા 

આઇ.એસ. Ⱥજુબ જણાવો.  

02 

03 

03 

 

 બ ૧  ƈલીયર કવરની અન ેઅસરકારક કવરની ƥયાƉયા આપો ƨલબે,     બીમ અને 

કોલમ ની લȴતુમ  કવરની  �કમત જણાવો. 

૨ ƨલબેમા ȺƉુય અને િવતરણ  ̆બલનના મહતમ  ƨપેિસગ Ƀ ુહોવા જોઇએ? 

૩ આȢૃિત દોર�_ બલેƛેસ અન ેઅƛડર ર°ઇƛફોસ½ડ સકેશન સમĤવો. 

02 

 

02 

03 
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̆ĕ ૨ 

 

 

અ 1500 KN નો અëીય દાબ ભાર લાગતા એક Ȭૂંકા આર.સી.સી. કોલમની �ડઝાઇન 

કરો. લȴતુમ % ƨટ�લ નો ઉપયોગ કરો. લોƛĥટȽડુ�નલ ƨટ�લ અને લટેરલ ટાઇ ની 

�ડઝાઇન કરો. કҭ˲�ટ ˴ેડ M 20 અને Fe 415_ƨટ�લ ˴ેડ નો ઉપયોગ કરો. સȶંણૂ½ 

સળ�યાની �ડટ°ઇલ દશા½વતો ƨક°ચ દોરો.                         .  

07 

 

 

 

 

 બ 300 mm પહોળ� �દવાલ પર ટ°કવેલ 3.2મી x 9.2 મી ના માપ ના ƨલબેની 

�ડઝાઇન કરો Ȑની પર લાઇવ લોડ  2.5 KN/m2 અને ફલોર �ફનીશ  1.0 KN/m2 

લાગે છે. કҭ˲�ટ ˴ડે M 20  અને Fe 415_ƨટ�લ ˴ેડ નો ઉપયોગ કરો. �ડƝલƈેશન 

અને °˲કӄગ નો ચકે કરો. સȶંણૂ½ સળ�યાની �ડટ°ઇલ દશા½વતો ƨક°ચ દોરો. 

07  

  અથવા   

 બ 300 mm પહોળ� �દવાલ પર ટ°કવેલ એક 3.5 mt ના ં́ણ સરખા અસરકારક ગાળા 

ધરાવતા વન વે ƈƛટ�ƛȻઅુસ  ƨલેબની �ડઝાઇન કરો. Ȑની પર લાઇવ લોડ  5.0 

KN/m2 અને ફલોર �ફનીશ  1.0 KN/m2 લાગે છે. કҭ˲�ટ ˴ેડ M 20  અને Fe 415 

ƨટ�લ ˴ેડ નો ઉપયોગ કરો. સȶંણૂ½ સળ�યાની �ડટ°ઇલ દશા½વતો ƨક°ચ દોરો. (કોઇ 

પણ ચકેની જĮર નથી.)  

07  

̆ĕ ૩ અ 300 mm  પહોળ� �દવાલ પર ચાર° બાȩુએ ટ°કવલે 3.0 મી x 3.0 મી  ના ƈલીયર 

માપના Ȭ ૂવ ે ƨલેબ ની �ડઝાઇન કરો. Ȑની પર લાઇવ લોડ  ૩.૦ KN/m2 અને 

ફલોર �ફનીશ  1.0 KN/m2 લાગે  છે. ƨલેબ ના ȣણૂા હ°ƣડ ડાઉન નથી.કҭ˲�ટ ˴ડે M 

20  અને Fe 415 ƨટ�લ ˴ડે નો ઉપયોગ કરો. °˲કӄગ નો ચકે કરો. સȶંણૂ½ સળ�યાની 

�ડટ°ઇલ દશા½વતો ƨક°ચ દોરો. 

07  

 બ 325 KN.m ફ°ƈટȮ્½ȴણૂ½ લાગતા 300 mm x 600 mm  માપ ના બીમ માટ°  જĮર� 

દબાણ બાȩુ તથા તણાવ બાȩુ ƨટ�લ ȵુ ંëે́ ફળ શોધો. દબાણ બાȩુ તથા તણાવ 

બાȩુ અસરકારક કવર  50 mm છે. કҭ˲�ટ ˴ેડ M 20  અને Fe 415 ƨટ�લ ˴ેડ નો 

ઉપયોગ કરો 

07  

  અથવા    

̆ĕ ૩  અ 250 mm પહોળ� �દવાલ પર ચાર° બાȩુએ ટ°કવેલ 3.5 મી x 4.0 મી  ના ƈલીયર 

માપના Ȭ ૂવ ે ƨલેબ ની �ડઝાઇન કરો. Ȑની પર લાઇવ લોડ  4.૦ KN/m2 અને 

ફલોર �ફનીશ  0.8 KN/m2 લાગે  છે. ƨલબે ના ȣણૂા હ°ƣડ ડાઉન છે. કҭ˲�ટ ˴ેડ M 

20  અને Fe 415 ƨટ�લ ˴ેડ નો ઉપયોગ કરો. (કોઇ પણ ચકેની જĮર નથી) 

07  

 બ 300 mm x 600 mm  માપ ના િસગલી  ર°ઇƛફોસ½ડ બીમને 22 mm ƥયાસ ના 3 

સળ�યા થી ̆બ�લત કર°લ છે.  તેȵુ ંઅસરકારક કવર  30 mm અને અસરકારક 

ગાળો 5 m  છે. બીમ પર લાગતો એલાઉએબલ ભાર શોધો. °˲કӄગ નો ચેક કરો. 

કҭ˲�ટ ˴ડે M 20  અને Fe 415 ƨટ�લ ˴ડે નો ઉપયોગ કરો. 

07  

̆ĕ ૪  અ 500 mm x 500 mm  માપના ચોરસ કોલમ Ďારા વહન થતા ં1400 KN ના ફ°ƈટȮ્½ 

ભાર માટ° આઇસોલટે°ડ પડે ĭ�ટ�ગની  �ડઝાઇન કરો. સોઇલ બરેӄગ ક°પેસીટ� 180 

KN/m2 છે. કҭ˲�ટ ˴ેડ M 20  અને Fe 415 ƨટ�લ ˴ેડ નો ઉપયોગ કરો. °˲કӄગ નો 

ચકે કરો. સȶંણૂ½ સળ�યાની �ડટ°ઇલ દશા½વતો ƨક°ચ દોરો. 

07  

 બ ટ� બીમ માટ°  નીચ ેદશાવલે માપનો ઉપયોગ કર� નમન ȴણૂ½ શોધો.  

1. Ɲલƛેજની પહોળાઇ: 1500 મીમી. 2. Ɲલƛેજની әડાઇ: 150 મીમી. 3. વેબની 

પહોળાઇ: 230 મીમી. 4. અસરકારક કવર : 50 mm 5..બીમની  Ȣૂલ әડાઇ : 600 

mm 6. ટ°ƛસાઇલ ƨટ�લ: 4 નગં : – 16 મીમી ƥયાસ 

07  
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7. કҭ˲�ટ ˴ડે M 20  અને Fe 415 ƨટ�લ ˴ેડ નો ઉપયોગ કરો. 

  અથવા   

̆ĕ ૪ અ 500 mm x 500 mm  માપના ચોરસ કોલમ Ďારા વહન થતા ં2000 KN ના 

સિવ�સ અëીય ભાર માટ° આઇસોલટે°ડ ƨલોપ ĭ�ટ�ગની  �ડઝાઇન કરો. સોઇલ બરેӄગ 

ક°પસેીટ� 250 KN/m2 છે. કҭ˲�ટ ˴ડે M 20  અને Fe 415 ƨટ�લ ˴ેડ નો ઉપયોગ 

કરો. સȶંણૂ½ સળ�યાની �ડટ°ઇલ દશા½વતો ƨક°ચ દોરો. (કોઇ પણ ચકેની જĮર નથી) 

07 

 

 

 બ 250 mm x 500 mm અસરકારક  માપના બીમ ને 20 mm ƥયાસ ના 4 સળ�યા 

Fe 415 ƨટ�લ ˴ેડથી ̆બ�લત કર°લ છે. તેની પર ફ°ƈટȮ્½  કત½ન ભાર 200 KN નો 

લાગે છે. તેન ેવહન કરવા માટ°   8 mm ƥયાસના બ ેપગી  Fe 250 ƨટ�લ ˴ેડ ના 

ƨટ�રƜસ માટ° ક°ટɀુ ંӔતર રાખɂુ ંપડ° તે શોધો. કҭ˲�ટ ˴ેડ M 20નો ઉપયોગ કરો.  

સȶંણૂ½ સળ�યાની �ડટ°ઇલ દશા½વતો ƨક°ચ દોરો. 

07  

̆ĕ ૫ અ આર.સી.સી. ƨ˼ƈચરમા ંડƈટ�લીટ� Ʌધુારવાની ર�તો સમĤવો. 07  

 બ નીચ ેદશા½વલે માહ�તીનો ઉપયોગ કર� ƨવાનપગી સીડ�_નો Ɯલાન અન ેઆડછેદ 

દોરો. 

1. સીડ�ȵુ ંક°બીન: 5000 મીમી x 3000 મીમી. 

2. ક°બીનની દ�વાલો: 350 મીમી Ĥડ� 

3. લҪડ�ગȵુ ંમાપ: 1200 મીમી x 3000 મીમી, બનંે બાȩુ 

4. પગથીયાનો ઉઠાવ: 150 મીમી ઉઠાવના 12 પગથીયા. 

5. પગથીયાનો પટ: 250 મીમી ના 11 પટ. 

6. ȺƉુય ̆બલન: 12 મીમી ƥયાસના સળ�યા 120 મીમી ના Ӕતર° 

7 િવતરણ ̆બલન : 8 મીમી ƥયાસના સળ�યા 200 મીમી ના Ӕતર°  

8. સીડ�ના ધાબાની әડાઇ: 170 મીમી. 

9.  લҪડ�ગના ધાબાની әડાઇ: 130 મીમી. 

07  

  અથવા   

̆ĕ ૫ અ IS-13920  Ⱥԍુબ કોલમȵ ુડƈટાઇલ ડ�ટ°ઇલӄગ સમĤવો. 07  

 બ નીચ ેદશા½વલે માહ�તીનો ઉપયોગ કર� બેલƛેસ ક°ƛટ�લીવર બસ ƨટોપ નો Ɯલાન 

અને આડછેદ દોરો. 

1. કોલમ: 4 nos. 300 x 700 mm  માપનો આડછેદ,  

 લોƛĥટȽડુ�નલ ƨટ�લ :  8 નગં- 20 mm ƥયાસ.  

 લેટરલ ટાઇ  -8 mm ƥયાસ- 150 mm c/c ƨપેસӄગ 

2. બીમ: 4 nos. 300 x 700 mm, માપનો આડછેદ,   

ટ°ƛસાઇલ ƨટ�લ :  4 નગં - 25 mm ƥયાસ . 

કોƠ̆સેન ƨટ�લ  : 2 nos- 16 mm dia.  

ƨટ�રƜસ : 8 mm ƥયાસ 125 mm c/c , 2 –પગી 

3. ƨલબે: Ĥડાઇ 120mm , ȺƉુય ̆બલન -8 mm ƥયાસ 120 mm c/c ƨપેસӄગ 

િવતરણ ƨટ�લ:  -6 mm dia 175 mmc/c ƨપેસӄગ 

4. કોલમ ȵુ ંƨપેસӄગ: 3.5 m c/c 

07 
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